FgArea: [0 ]
NC11 P3-14
2025-04-17 (Day 17)




000000000
00000000
88888888



| ©
-
| <
|
-
| ©
-
- «©
- <
=
=
- oy
T T T T T T T
o o o o o o o o
T ) Ire) =} s} =} o
™ ™ i\ N — —






800 -

700 -

600 -

500 -

400 -

300 -

200

100 -

1 VI vs Du

500

T
1000

T
1500
DU

T
2000

T
2500




FR

0.4
0.3 1

0.6 A
0.5
0.2 A
0.1 1



1 setVI

——

120 -
100 -
80 -
60 -
40 -



1 (fgArea = NA)

4000

3500

3000 -

2500 -

2000

—@— ECI*10%
—0— ECO

10

12

14

16




—&— PHI*10%

7.5__—.—7 PHO

7.0 1
6.5 1
6.0

5.9

16

14

12

10



Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]

T S e—— =
SR A A0 LY | v S
"l N ! PN~

4 \ i V | S~
N |

30.0 H ]
! AN~~~ N\ — T

. E "\/‘v‘\/ _/W /\/"\ —— Topt |

| P TN

1

1

v -
S \/\ /'

15.0

12.5

N \T\_A/%'
N A
45 \ i
ol A

35

0 25 50 75 100 125 150 175
T I
- | A\ Wi WA ool |
——  optETcl
600 A A optElel L

; R

300

A,
200 d /'A‘,E(//{f L\Q‘K
100 ; \Q ——

3.0

. 4 ~

1.5

N e L

0 25 50 75 100 125 150 175

L | P
LA |

i i

|

0 25 50 75 100 125 150 175
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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